
Differenzialrechnung (Tangente und Normale) Lösungen+ Übungen

Aufgabe 1

f(x) =
√
3x− 5

x0 = 2 ⇒ y0 = f(2) = 1

mt = f ′(2) = 3
2
(Taschenrechner)

y0 = mt · x0 + qt

1 = 3
2
· 2 + qt

qt = −2

t : y = 3
2
x− 2

mt ·mn = −1
3
2
·mn = −1

mn = −2
3

y0 = mn · x0 + qn

1 = −2
3
· 2 + qn

qn = 7
3

n : y = −2
3
x+ 7

3

Aufgabe 2

f(x) = x3 − x+ 1

x0 = −1 ⇒ y0 = f(−1) = 1

mt = f ′(−1) = 2 (Taschenrechner)

y0 = mt · x0 + qt

1 = 2 · (−1) + qt

qt = 3

t : y = 2x+ 3

mt ·mn = −1

2 ·mn = −1

mn = −1
2

y0 = mn · x0 + qn

1 = −1
2
· (−1) + qn

qn = 1
2

n : y = −1
2
x+ 1

2

1



Aufgabe 3

f(x) =
5− x

x− 3

x0 = 5 ⇒ y0 = f(5) = 0

mt = f ′(5) = −1
2
(Taschenrechner)

y0 = mt · x0 + qt

0 = −1
2
· 5 + qt

qt =
5
2

t : y = −1
2
x+ 5

2

mt ·mn = −1

−1
2
·mn = −1

mn = 2

y0 = mn · x0 + qn

0 = 2 · 5 + qn

qn = −10

n : y = 2x− 10

2


